Warm Up 219

1. Create a table and a mapping using f(x)= x*+ 5
for the domain of {-3, -2, 0, 2, 3}
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2. Find the slope from the 2 points:
a) (9D& 2B = Yz2-Y _ AY
b) (14, 6) & (2, -6) Watte DA%
c) (-5, -8) & (-5, -4)
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3. Translate to an equation and solve:
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#1 Finding slope from a TABLE

Find the

(FROM WS 51

difference X
between
each Y-value _2
and between
each X-value *I< 1
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#2 Finding slope from a TABLE

Find the
difference X
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#8 Finding slope from a TABLE

Find the
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#9 Finding slope from a TABLE

(FROM WS 51!

Find the

difference X Y
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Slope and Y-intercept from an EQUATION

(From Slope Practice #30)

1. y=-2x-4 m=_—~Z b= -4

5.721){+y=3>< m=_-~4 b=__ 3

6.2}(=-y 4 m=_— | b= —4




Slope and Y-intercept from an EQUATION

(From Slope Practice #30)




